Review of Probability
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Solve the problem.
1) Which of the following cannot be a probability?

A) i\é—g B) -87 C) 0.001 D)0

2) Rank the probabilities of 10%, , and 0.06 from the least likely to occur to the most likely to occur.
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3) Identify the sample space of the probability experiment: answering a multiple choice question with A, B, C, and
D as the possible answers i

4) A single six-sided die is rolled. Find the probability of rolling a number less than 3.
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5) A study of 1000 randomly selected flights of a major airline showed that 782 of the fhghts arrived on time. What
is the probabﬂlty of a ﬂ:ght arnvmg on time?
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6) In a survey of college students, 880 said that they have cheated on an exam and 1721 said that they have not. If
one college student is selected at random, find the probability that the student has cheated on an exam.

o

2,
£ (o0 |

7) The distribution of blood types for 100 Americans is listed in the table. If one donor is selected at random fmd
the probablhty of selechng a person with blood type A+ or A-. B

Blood Type] O+ O- A+ A-| B+ B- AB+ AB-
Number | 37 6 34 6 10 2 4 1

8) A group of students were asked if they carry a credit card. The responses are listed in the table.

Credit Card | Not a Credit Card
Class Carrier Carrier Total
Freshman | 24 [ 36 [ 60
Sophomore 37 3 1 40
Total 61 39 100

If a student is selected at random, find the probability that he or she owns a credit card given that the student is
a freshman. Round your answer to three decimal places.
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9) Classify the events as dependent or independent.
The events of getting two aces when two cards are drawn from a deck of playing cards and the first card is
replaced before the second card is drawn.
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10) You are dealt two cards successively without replacement from a standard deck of 52 playing cards. Find the
probability that the first card is a two and the second card is a ten. Round your answer to three decimal places
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11) Find the probability of answering the two multiple choice questions. correcﬂy if random guesses are made.
Assume the questions each have five chozces for the answer, Only one of the choices is correct.
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12) The probability it will rain is 40% each day overa three—day penod What is the probablhty it will rain at least
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13) Decide if the events A and B are mutually exclusxve or not mutually exclusive. A card is drawn from a standard

deck of 52 playing cards.
A:The resultisa 7. z;
X( US1

B: The result is a jack.

14) A card is drawn from a standard deck of 52 playing cards. Find the probability that the card is an ace or a king

) A card is drawn from a standard deck of 52 playing cards. Find the probability that the card is an ace or a black

card.




16) The table lists the smoking habits of a group of coliege students.

Sex | Non-smoker | Regular Smoker | Heavy Smoker | Total

Man 135 46 5: 186
Woman 187 21 11 219

Total 322 67 16 % | 405

If a student is chosen at random, find the probability of gé‘tting someone who is a regular or heavy smoker.
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Round your answer to three decimal places. _
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17) The access code to a house's security system consists of five digits. How many different codes are available if
each digit can be repeated?
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18) A delivery route must include stops at three cities. If the route is randomly selected, find the probability that the
cities will be arranged in alphabetical order. Round your answer to three decimal places.
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19) The Environmental Protection Agency must visif nine factones for complaints of air pollunon In how many
different ways can a representative visit five of these to'investigate this week?
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: epublicans, @@Democrat and @Iﬂdependent be chosen from nine Republicans,
five Democrats, and two Independents to fill four posmons on city council?
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21) How many different permutations of the letters in the wordﬁ%}’%;ﬁ(}f are there?
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22) A student must answer five questions on an exam that contains nine questions.

a) How many ways can the student do this? q‘?{’; - Q o
b) How many ways are there if the student must answer the first and last question? ,,}C 5 i)i)
\.J

23) In the California State lottery, you must select six numbers from fifty-two numbers to win the big prize. The
numbers do not have to be in a particular order. What is the probability that you will win the big prize if you
buy one ticket? i ? f } i
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